L2 COMPUTE time per input event Entries 5089229

Mean 4,077

RMS 4.011

Underflow 0

Overflow 2267

111 I 111 I 111 I 111 I 111 I 111 I 111 I 111 I 111
0 20 40 60 80 100 120 140 160 180
X: COMPUTE time (CPU KTics)

rate of COMPUTE

Entries. 5089220

Mean 1036

y: rate (Hz)

=
o

102

10

0 200 400 600 800 1000 1200 1400 1600 1800 2000

5479

14626406

total events. 0=anylnput pt 1. pt 1. pt Enties 10447026407

X: time in this run (seconds)

Mean

of underton

) overtow

1240

1752

4 6 8 10 12 14 16 18
Input: 0=comp, 1=decis, user ..., 10=accept,...user

Entries 59662

Mean 1027

RMS. 544.7
Underflow

Overflow 1.72e+04

i

0 200 400 600 800 1000 1200 1400 1600 1800 2000

L2 DECISION time per input event Enries 59662 rate of DECISION
Mean 3.693
g [ : : : : : : £
% . B B B B B RMS 2.144 9
: : : : : g
iOAE_ Tt R o777 % underfiow 0 5
L + | overtiow 9%
10° fr e e s i e o SRR R LR R
r : : 10
107 oo S
] REREEPCPEPEPE = FTLL DPEPEPIPEPEe
l 1111 I 1111 I 1111 I 1111 I 1111 I 1111 I 1111 I |
] 5 10 15 20 25 30 35
x: DECISION time (CPU KTics)
L2 COMP+DECI time per input event Enties 59662 rate of ACCEPT

Mean 13.48

RMS 8.436

Underflow 0

Overflow 111

100 120 14

Wed Jun 17 G355 56715

160 180

X: time in this run (seconds)

ETOW-compute: #towers w/ energy /event Entries 5089229
Mean 2479
2
g . .
. RMS 2125
%0
> : 1 | underfiow 0
. » | overflow 0

x: # ETOW towers

Entries 59662

Mean 1027

y: rate (Hz)

10

Underflow

Overflow 1.72e+04

“

0 200 400 600 800 1000 1200 1400 1600 1800 2000

X: time in this run (seconds)

ETOW: Seed Tower Number

Mean

Entries 30130

369.3

205.6




ETOW: Cluster Seed Et GeV

| Entries

10* %— ...............

10° ;— ---------------

10° ;— ---------------

o
L
0

Mean
RMS

.................................................................................................

30130

5.699
1.443

..............................................................................................................

ETOW-decision: accepted clust ...

Entries

10*

10°

10?

10

=

o
I| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|

Mean
RMS

60074

7.023
1.717

30
x: ET(GeV)

ETOW:

10*Seed Et/Cluster Et GeV |

Entries

Mean
RMS

30130

8.22
1.315




ETOW: Seed Tower Number

Entries 30130

Mean

RMS

179.6

106.8

250 300

Entries

Mean

RMS

30130

937.7

96.39

_III|IIII|IIII| | | | | . | | | | | 1 | |

400 450 500 550 600 650




ETOW-compute: #seed towers ET>4.20 GeV / event

Entries 5089229

ETOW-decision: acc cluster ET>5.50 GeV

Entries 5148891

§2) E : Mean 0.5116
= b :
S :
(] .
_LT RMS 0.1072
il S R e .
Tu] USROS NSO NS S R S SRR SR
10° @i A Beeeee [ prrenes
103 .........................................................................
102 .........................................................................
10 .........................................................................

1 |'r'|'i1'r1'|'i'|'|'|'r'i'r1'r1'i'1'|'|'|'i1'r1'ri'|'1'|'|'i'r1'r1'i'1'|'r'|'i'|'r1'r

0O 10 20 30 40 50 60 70 80 90 100

2 . Mean 05117
= :
=} .
o :
o : RMS  0.1075
5 :
1 R A A A e AN R
O o S AR b SERL Rl SRR AR AR
4 el SRS SR e
10" B~ '

0

'|'l1'r1'r{'r|'|'r'|'r1'r1'|'1'|'|'|'|1'r1'rI'r1'|'|'|'r1'r1'|'|'|'|'|'|'|'r1'r

5 10 15 20 25 30 35 40 45 50

X: # ETOW towers

x:cluster ET(GeV)

ETOW-decision: any cluster

Entries

10*

10

10

20

7| Mean

B

29944

7.023

1.716

ETOW: Seed Tower Rank

25 3
x: ET(GeV)

0

Entries

10

102

10

Mean

RMS

30130

1.501

0.03596

..................................................................

'|"|"|"i"l'i'l"i"|"|"|':I'|"|"|'|'i'|"|"|"|'i'|" N

4 6 8 10 12 14

16

18

20




ETOW:

Seed Tower Quadrant

Entries

ETOW:

Cluster Et Sum GeV |

= = =
= o o o
o o % S

o
I| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|

=

Mean
RMS

29913
1.629
1.079

Entries

ETOW: # non-zero towers per cluster

10*

10°

10?

10

Mean

29913
7.024
1.716

Entries

=1 'I"'I'"I'".r"l'"l"'l"'l'"
0 0.5

Wed Jun 17 03:52:14 2015

Mean

30130
2.904
0.7612




